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PERCENTAGE RATIO
AND PROPORTION
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o Q.l- -Define Percentage Also grve example S
- Ans.. The word " Percent " means out of hundred or per-"
o hundred The symbol for percentage is%. . . .
-“Exampte" S S . o o
. Ahmad takes a test. and gets ! -I marks out of 20 Fmd
| , the marks percentage" |
~ Solution:- -* Marks obtamed =] 4 .
Marks percentage = % x1 00%

~14x5%

o | -~70/6 | . S
' .'-Q‘.‘Z-\ How do a percentage and fractwn can be .
- _-~_1nterc0nverted" - o S
| Ans Percentage is. converted mto fractlon by dwudmg it by
T 100 Let us consnder o AR -
el
100 5
s09=22-1
100 2 |
Slmllar\ly common frdctlon is converted to percentage_

. by multlplymg 1t by 100
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Bample: -
o j-'_3__=1x100% 60%
055 :
-1—6~‘ -1-9-)(100/0 64%
| 25 25
| Q.3- If of the students in a school have been away for |

a hohdav How many out of . every hundred have .
‘been.on hohday" K |

' Solutlon- o

4. 4

.~'-—-x100‘7 80%‘
5 -5

B | Thus 80 students out of every 1 (}0 have been on

o '_Q;.%i?

- - antecedent and the 2nd quantlty 'b" is called
Iconsequent _ “ S

hohday | | . | o
_If 56 % of the homes in a cnlony have acar. What." |
% age of homes do not have a car" | '
o S‘olutlon - .
o Total number of homes in the colony = 100 ‘V
Y :.‘Numberof homes having cars -~ -~ =36 % |
o "Number ef"hem'es h_aﬁing no eay‘ - =100 % =~ 56 %
v ,- | =%
Q5- .Explam the term "ratm" also give an example.
;Ratlo is a comparison of two or miore like quantities
- measured in like units. The symbol for ratio ls ""fa
- - and b represent two magmtudes of a quantlty where .
’blsmtmmﬂlenmnootato blswnttenasa b or :
- Q.6- . Define Antecedent and Consequent in a ratlo
In a ratio "a : 6" the first- quantlty 'is called_'
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o Q. 7- In what ratlo 60m be decreased fo 24m
‘Solutlon-.. ‘ S '
Requlred ratio .= 24 60
"—25', |
- Q.8- There are 1029 students in a school 504 0f them
AT are glrls Fmd the ratle of boys to the glrls

. -Solutlon -

3 Total nUmber of student 1 029
© Number of girls =504
| '*Number of boys = 1 029 504
' = 525 |
| 'Reqmred ratlo = Number of boys Number of gn'ls .
| | -.525 504 T
o =1 75 - 168 -
IR 25 24Ans
' : Q,9~;-' Deﬁne prOportlon S -
Ans.. The equalltles of two ratlos is called proportlon

; | _ -;Example

. 3:5and 9: 15 are equal ratlos So we carn wrlte
L 35n 9Us B
-Q.10- Find the value of 'y’ 1fx 3 60 15
'Solut:on - Wehave L

x 3::60: 15
_{' 60 R
3" 15. o
| 15

| Q 112 What are the types of proportlons"

Ans There are three kinds of proportlons - _
() Dn'ect proportion .(") Inverse proportlon :
| _' (iii) Compound proportion. - |
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- Qa2-
Ans

Deﬁne "Dlrect proportion"

_\,_“The quantltatwe relatlonshlp between two quantltles -

- such -that increase in one- quamtlty causes a
B ‘proportxonal increase in the other quantxty is called

Q.13

: . Ans.

B Q 14-
. Ans,

o Q;l-—:

R
)

G

- direct proportion. -

‘Define "Inverse proportlon _
The quantltatwe relatlonshlp between two quantltles ..
- such that increase in.one’quantity causes a-
T propomonal decrease in the other quantity or decrease |
~in one quantlty causes a proportlonal mcrease in the-
.other quantity, is called inverse proportion. |
'What do you know about compound proportlon" N "
- 'When -one’ quantity is propomonal to more than one.
° quantities either direct or mverse, -then ‘the proporuon'
- 1s called compound proportzon '
sowlo B(IRCISES
| EXERCISEI 1 |
'Express the followmg percentages as’ fractlons in
~their lowest form. L
() 95% (i) 65% (iip) 75% (tv) 25% (v) 56%
:(VI) 48% (vu) 8% (vm) 33 /0 (:x) 37 /“
- (x) 87 /o (x‘) 5'— Y% (_x") 42 A) )
”'-_,'-Soluuon - | .
| 95 5 ><19 19 -
9% 100~ 5%20 2 oA“S' .
65 5%x13 _13 o
65%= 100 5x20° T Z0AmS
75 3x25 EA
75 / =" = "Ans

100+ 4><25 4
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‘l,(ix') " 372%“*‘/

oy ',872%_ %= ==

: So[ution -

G

s = ]
] = g ¥ "

25 25><1 I

() 2% 09 " 25xq 4A“$'

56 l4x4 M %

L 5_6_% 100~ 25x4 - I5ADS

"48‘ I2x4 712

) __48”’ 700 25%4 25A“S

| '8 --'2>'<,4 2

iy "\'.8% 100 -~ 25%4 25A“S'

1 67 67 67

27T 2x100" " 200 A“S
75 75 3x25 3

27 T axa00 2x4><25 8*”“’5 o
7

7

2 2x100 2xd4x25] ??' g

2L 20 -21. S

4 47 axdo0 40’0. “S
85 .--‘85' U 17xS 07

" 2x100 2%20x5 40A“S

1, 075, 175 25x7

.Q;.j; -~:.Express the followmg fractions as percentage, B
. - giving your answer carrect to 1 declmﬁl place,l.-_ I

- .~ where necessary

3 4 13 31 o
U 4 (u) 5 (w) 25 (n) 30 (v) 2§ _(W) 40

e 8 7
‘ (vu) (vm) 3 (Lx) 5 (x) 8 (xr) 8 (xu) -

SNGE %=-§x100°/o..3 "‘_25 ><4% 75% Ans
-§=-§-XI00% 3Ix20x%5 . /0-—60%Amb
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i -2%—543 %100 %= 4"4"25%._16%“3_,_ :
(tv) '-;%=é%x100% 65%Ans |

L) 100% = 124*% R
TR T I 6 Ans.

2 _ 2 13}5% 525%An5 |

40 40 -
03 23 115 o
B ji) —=-—-x100 —% —'38 % T
- ) *0,: 60- 3 3 °A“s

800, o
i) ><100% = 3 % -26666/Ans

o (éx):. 1000/ -~16MAns o B
> %_. ,'-_-'37.5_%Ans-.-
% =B 50 nms

il

botw";'Ooltn'-Ool\q dIOo_,n»IOo

- % 190% A=‘

!

L) 150% “5% 3’75'%'Ans '

'oc;u, Ool'ur,col\)"-'nloo 'e»wo-ox

o Q'S.".'-;' Express the followmg l'raetlons as percentage, give
~_your answer correct to 3 places of decimal. .
(:) 47% (h) 58% (m) 92% (w) 8% (v) Z%v_ o

" : lo : -
R 120““ (vn) 180% (vm) 145% (:x) 55% 0

R | 2 ‘
) (\) "-—- Yo (w) 48 /“ (xu) 583"/. »
==So|uuon - B N

AN

) |
o 58%= ___()58Ans
) (ii) ) . 100
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(i) 929 = 15;20 _ 092 Ans o
) '.-8%# 7‘(%‘.—. 0.()8Ans
o V) -_"12% _I!E}%ZOIZADS
(w) -120%__%_ JzaAns-‘ S
’ (i) .185-.‘%,“ %g-— }80Ans- L
- "(v.iii)f-' 145%—- i—g%- I45AnS'
o, 55
fix) % = 55"/-——-———0055Ans
| (_’x),__z. ST -
) "51 533% 22-00533 Ans N
3 100 :
2' 4867
i) 48% 4867‘7— - -04867 An
e A= AT Ty S.
| U sely, L5833
i 58= 5833"/-— _ -05833A
_ J,(xzz)_, 3 0= 00 ns- e
Express the followmg declmals as percentages »

() 05309 () 125 (iv) 1.39 (1) 172 (i) 0.22 -

" (vi) 2.64 (vii) 341 @ 0.845 (x) 178 ] 153
' (xu) 0065 ' \

(I) ‘-
o .."(,ii).

G

o

o Solutlon - S
05 05x100% -5()% Ans

09 U9x]00% —-]-% xIOO% 90%. Ans o

1,25 = 125%100% _-% <100%= 125% Ans"-__-_ -

I 39 I39x100/ = % x100°o~ 13% Ans"_'
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e _1_.72 '=_1.j72>‘<1000,; ;% x 100 %=172% Ans |

i -- (W) —022 022)(100% “%XIOU‘V 229/ Aﬂs B

(vii) 764 264xl()()% ..%;- x100%= 264% Ans.

i) 341 =-3.41><100‘%. - %’é x100%= 341% Ans.

) 0845_()845x100%'e_§‘f_~‘_, ,00/'0' 845 ,,
1000 - 10

%
= 84.5% Ans

w 178“1?8x100%.=-j—g—§x100% 173—%’ Ans-’
e nne. . 158 . .
._ ‘—_(x,)-_ | 1.58 = 1.58-x 1.00/,, =_1—‘E ><100 /av 158/6 Ans
o | | 65
__(x,,) 0065 oo«ssxmo/a = 7000 x]00/6
L85, 765% Ans
o 10 |
Q.5- Complete the followmg table | o
o Fractlon Percentage R | Decimal
N . 3 100%= 75% 3—5-~075
N P 4 - L 100
ba |2 L= 80% E0—.-080
s s -] 100 :
i3 e P77 Sy, 7Y
{00 sy 100 L
| 4 | 82230182 5oy T 062
{100 _s0fi09 - "~ F |
5. RLNLLN PP e I/ Y7
e 25| o ]
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S EXERCISE L 2
Q l- If 45% of the students in a school are glrls What
| percentage are boys" ' o :
'Solutlon- - R ’
All'the students in the school 100 %. |
Girls students = 45% | SR
| tmmmmLst—ﬁy-—ﬁ%mS |
L 'Q.2- 'If 82% of the houses have a telev:snon, what

percentage does not have" o SRR ’

B ‘SOlUtIOI'l - Number of houses = I 00 /
Number of havmg T.V= 82 ‘V PR
Number of havmg no T V = 100% - 82 ‘V
o ISAAns _
Q.3- A hockey team won 62% of thelr matches and 26% f
- of them were’ ended in a draw. What percentage off -
" the matches they lost" B o |

""So]utlon-; - . I
) Nurnher of matches played =1 00 /6 |
" Number of matches won . = 62 % "

‘Number of mhtches ended in a draw ‘= - 26%
y Number of matches lost = 100% ~62% -—»26 % .
: Co = 12%Ans. Lo
" Q4 An ‘aeroplane carrles 400 passengers, 52% of the

o  passengers were Pakistani, 17% were Chmese,"
12% were from Iran and the rest were from.
~ British. | o -
(i) How many people of each natlonallty were .
~ onthe plane? ' c
- (u) What percentage were: Brltlsh"
L Solution:- - ‘
) Total number of passengers = 40()
- Pakistani passengers = 52 % = 52% of 400
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] —'-s—zb-x400 = 208 Passengers Ans s

) -Chmese passengers = l?‘y of 40() |
o e}%xmo 68PassengersAns |
' Passengers from Iran = { 2% of 100
| v o
= —x 400 = 48Passen IS '
T &¢ A“S_...'
: Remammg Bntlsh were = 400 208 68 - -48
. | =76 Passengers AnS.
o | T . : | 76
L 'Percentage of BI‘ltlSh =';50"><1 00 = 19 % |
| QS- Amna scored 46 out of 50.in a Math test, 64 out ‘of o
. 15ina Chemlstry test and 72 out of 80 in a Physws
o test In wh;ch subject did she perform best" SRR
Solutmn- R S R
46 o
%age ofscores mmath | =5X100 = 92/‘6

| 64
'-%age ofscores 1nChemlstry-f-><100 = 853"0 |

| | -T2
% age of scores in Phys:cs = "8—0>< 1 00 = 90% -

o 3 -'Thus the greatest percentage 1s 92% in Math So
' Amna performed the best in- Maths Ans.’

- Q,TG.-. A table costs a carpenter Rs. 720 to make. He sells lt-:‘ o

- for Rs. 920. What percentagc of proﬁt does heearn? -
o Solutlon - . : T

“C.P=Rs720
o speme0
.+ Profit=Rs920-Rs720 =Rs200 = »

Prof t.

%ageofProﬁt- o ><100
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- 7200 9 —2778/oAns

If 8 4% of a Beok consists of 42 pages Fmd total |

- number of -pages | in the book" o
Solutmn- ' :

8 4 % of book contams number of pages = 4_2

Q8

| r_Soluuon -

‘ Tetal number of pages in book 42>< H o

o Rent = 20 % of x Lo
- Rest of the 1 income = 80 % of X

84 N
.- Se, ‘}5‘5 of book eontams number of pages =4 2

- ‘

1 00

42XTO(.)' = ,500 Pages Ans S

Out of hls total mcome, Hamza spends 20% on

house rent and 70% of the rest on household '

. -expenditures. If he saves Rs 1800 What is hls total‘ . |

mcome" ?

Letx rupees be the total-income .

80 | 4x"__.
| 100 _'5 )

Experditure on heuse hold_::.?() %of ——

. --_S'aving-j'()Vof e

Thus aecordmg to the g,wen condttmn
4x '
30 % of” ‘3"'— 1800
.- 30 o

| X '800, -
- J(m s
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Tt W . .

| . Q.‘g'

A IXI)Ox]OUx.SA_HOO
30x4 -
'.st7500Ans S |
Raheel's i income is 25 % more  than that of Rauf o
What percent i 1s Rauf's i mcome less than Raheel's" |

Solutton - - Let us suppose

Rauf‘s income = Rs JOO

- "Then Raheels i mcome Rs. ] 25
. %ageof dlfference age w.r.t Raheels income.

Q1
o '._‘lowestterms DR '
() Rs.24,Rs. 6 (il) 20 kg, 5kg (m) aﬂcm, 80 em

o

(Vi) Rs. 150 Rs 275

'_, leference x']OO B
Raheel's mcome »

25 R
= 100 ~209’
. szx Ans |

Fmd the ratio of first quantlty to the second in its |

(iv) Sm, Sm (v} 1500 km, 1200 km .-

= SO]UIIOH- | _ o :

S Rs 24 Rs6 —24 6—-—5-_——7?.4 “1Ans.

T 20 4
(i) 2()kg 5kg —20 E > =% =5 =4 lAns

D | | 20 1.,

(i) 20em . 220 80 =— ===1:4,
-(m). 2()¢m,80gm__ T80 __}Ans
(i) '5m-,5m-‘ 3 .=5--':5, 377 =11 Ans

1200

-'1500km 1200 km =~ =T¢"-’=5 4 Ans.

EXERCISEIS R \ s
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- =

- R 5t R 7 7'—150 =6 ']'I-' s
(v:) Rs. 150, Rs. 275 275 ” - £0Anps.

Q 2 Exp‘ress each ofthé folloWihg ratios in its simplest form.

() 3 5 (") 5 - -(l")"ﬁ * 10

4.
13 3 2. 1 A
| "_("') 40 20 o 36 MR R
S 15 12 28 z-‘-1‘”
S _(vu)_'ﬁ (vm) 10 ‘1'“6 {ix) - 5 3

T ) 3 o | 2 3 ‘--‘. N ;...“ | _‘,:‘
W 33 15 % 355" I5 (Multiply by L.CM = /5)

=20 x 3- : Z % 20 (Multlply by LC M= 20)
| —16 15Ans. |
S _("_’): .-6 : 10 | |
R 5 , 7
- -25 21Ans o
) ‘40 zo

- = 40 X }5 3—5 x-.?()‘l‘(Multlplﬂy by LCM = 40) o

- =0x 3 iy O(Multiply by LCM=6)=4 : [Ans..
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(V.i)"g

L i)

5
T

220
ST 2 100 (Multlply by L CM= J)
e

30 Ans

.2

.-=-~2-'—~(Mult1p1ybyLCM 2) 3 4Ans

o (wiii)

12 2 |
}0 O(Multlply byLCM 10)

12 28 --3 _7Ans

u.lw I

21
RER

‘ L .
= 15 x 5 ]5 X —(Mu]tlply byLC M l.'))
' '- 6 5Ans o .

‘ Fmd ratio of the students who used

o

@

| (i)

In a city 126 medlcal students traveled by

4 9 | 75 .| 28

(l'), . Rikshaw to taxi (i) Taxl to bus s
(iii) . Taxlto car. o

_','Sohmon- | o
" Rikshaw =~ : . Taxi.

Taxi+ % Bus .
9+ 75 Ans.

o3 e s
Taxi ™~ : Car -
.9 . & 28 Ans.

leshaw | Tax: N Bus ‘j- Car |
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Mathematlcs, 115 on Enghsh 85 on Chem:stry and

60 on Phys:cs Fmd ratio of the following: -
- (i) - Mathematics books te English books

" (i)  English books to Chemistry books.
(i) English books to Physics books.

" (iv).  Physics books to Chemlstry books.

(v) - - Physics books to Mathematics books.

: Solutton -

R

'. '("z;i):

' -"(}'fi)' |
Gy

- (W)_ .

Math Books
7:)

- EngBooks' - :

-(w) Chemlstry books to Mathematlcs books

qu Books.

15

s 8 | -
r 23 AR 1‘_7, (Dmdedby.)).
Eng Books i ’fPhysms Books
ooHms 60 - o
3 7 (Dmdedby 5.
Physics Books: . .Chemzstry Books - o
60 o 85 o
2o - 17 (DlVlded by5)‘_-' L
Physics Books: ‘Math Books '
L 60 Do ':‘-'_75 : A
4 S 5 (Dmded by 5)'
Cheo’list'ry Books . : Math Books - |
S8 s
17 5 '_.(Dividedby 5)

In a school l;brary, there are 75 books on

X (Dmdedbyj') R
ChemlstryBooks e
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o EXERCISE 14
Q.1- Fmd the ratlo of 6 rupees eaeh to 72 rupees per dozen;" |
Solutlon- T C S
IR 6 Rupees each Ce e 72 Rupees per dozen |
=72 Rupees per dozen 72 Rupees per dozen
=1 i1 Ans

- '-Note -6 rupees each means 7 72 rupees per dozen R
.'Q.2- _Find the ratlo of Rs 160 per meter to Rs 150 per

| . --meter. : :
o Solutlon- Rs. [ 60 per meter : Rs 1 50 per meter
=0 160 L1500
= 16 :‘ 15 Ans. ?' _-
Q3-— Flnd the ratio of Rs 72 for 24 to rupees4each" -
" Solutlon— . R .
. Rs.72for 24 R 4each
'—Rs.,_,?ea‘ch . PBs 4e'aeh o
= 3 - 4.  Ans.

S _Note -Rs. 72 for 24 means Rs 3 each

. Q4- A square 'A' has side 2 cm and a square 'B‘ has-,
- side 6¢m. Find ratio of:. - )
(i) - The length of the snde of the square 'A'to
- the length of the side of the square 'B'. o
(i)  The perimeter of the square 'A’ to the_ )
- . perimeter of the square ‘B ST
(iii) The area of the square ‘Al to the area of the.

| 'square 'B'. -
~ Solution:- 3 ST .
i) Lengthof 31de of A " Length of side of B
S - 2em :j - 6em |

)
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(i)l - al L p = 3c:m 4cm

- (i) - Perimeter of A ', B -+ Perimeter of B ;

“4x2 cm R - 4x6 cm
=l SRR Ans

(i) AreaofA" i . . AreaofB.

CQ2emy o T (em )
'_,=_'_.4 s 36
=] - .9 Ans

" Q5- Ifa: b 2; 3 findtheratlo6a 2b
Solutlon - : : .

1l
L)
e

LR __2_
b 3 |

| 6 -
: Multxply by 5 2 on both s:des

6a 6x2 2

) T2 2x3 1_
6d:2b=2:1 Ans

. Q6 A tnangle has sndes of lengths 3cm 4em and 6cm o

-~ Find the ratm of the lengths of the s:des te bne
another - T '

| Solutton -

Let the length of three 31des of trxangle be named asa,
So

_‘ ._.1__34 Ans ;
(u) b ¢ =4dem : 6cm ;
- =2:3 Ans.
(ii:) c: ‘a =6ém: 3cm o
__--2,_1. Ans



-

- PnendIyNomForGémrdMat‘umhcs9 S o ‘ls_

Q-

Solutlon -

~’and the third anglé_r-=?.

Two angles in a tnangle are 54° and 72° Find the -
- ratio of the tlurd angle to the sum of the first two" |

Let ' a=540 ) 5 - _r; ﬂ::720 R ‘

N | - We knowthat ' S
" Sum of rieasure oFthree angles of a tnangle is 180" SOA :

a+pB+y=180"

y=180"-a-p

L y=180° ;—_54"_-72", |

Qs

e

i+
54772 454" S
_540 1266 , _'-., g
=3:7 Ans.- | SR

-Alx s father earns a salary of Rs. 40,000 i ina month -

while his father s monthly expendltnres are. Rs_ |

~ 35,000 Find the ratio of his father's:

() Income to expendlture

'- e () Expendlt;lre to savings

- (i) Ii;come t_o’_sa‘vings .
,Solutlon - R
~ Salary=Rs 40, 000

| Expendlture Rs 35 000

G
(m)

- " Saving = Rs 40,000~ Rs 35, 000

=Rs 5000 .
Now requlred ratio'sare '
Income EXpendltui'e 40,000 : 35, 000 =8: 7 Ans.

| Expendlture Saving = 35,000 : 5,000 =7:1 Ans.
Income : Saving = 40,000 : 5,000 ,—8 1 Ans.



19

- Friendly Notes For General Mathemtics 9

s =

- Qo-

-A square 'A has side 6cm and square B ‘has side

Sem. -

4

S 'Fmd the ratlo of " L S
(i)  The length of . the s1de of a square A to the' |

length of the side o_f the square B.

E (n) " The area-of square A to the area of square B

o .,Solutzon -

- Length of the s1de of square A 6cm -

" Area of the square A =(6cm)’ =36cm*

o Length of the side of square B = Sem
R Area of the squasre B -(8cm) -64cm

2

- }_(iz)"- :

S Required Ratios are.

Length of side of A : Length of 81de of B

'—“‘Gcm 8cm=3: 4Ans

"'IArea of A : Area of B
- =36em’: 64cm |

=9 16 Ans,

-Q;‘lgo-

Solut1on -

@

A famlly has 12 pets of whleh 6 are cats, 2 are dogs
and the rest are birds. Fmd the ratio of the number of -

" (i)  birds to dogs
(ii) blrds to pets

* Number of pets = I 2
_Cats =

*I"_ ,D-‘?gs' =

* Birds  =12-6-2=4

. -Raﬁcssare :
o ‘Blrds Dogs',-=14:2

_ =20 IAns
.Bll'dS Pets =4 12
' -1 3Ans
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|  EXERCISE l 5 | - ¥
Q.1- Flnd the value of x:n the proportlon 20 50 :8: x"';-
| .Solutlon- S o | |
S 20:50: 8ix Lo e
208 T

--n—-._-lu—

50 |
"::>20x-8x50

8x50

:=>X— -20Ans |

- Q.2- The price of 15 suits' is Rs. 6’750 How many such
" sits can be purchased by“an amount of Rs 4050‘?

" . Solution:- .

. Letx su1ts can be purchased by an amount of Rs 4050 '-
:Amoum_s ., Suits. .

S 40s0v 0 x v .
"‘,_;.,T'he‘pfopdrtion is direct *s_o'--'_“ L
6750 : 4050 Cx o
6750 15 '
= 7
4050
:>6750><x 4050x]5
- 4050x15 ‘ o
—_—=9 Smts Ans

6750

o Q:S-_- A motorcycle covers 90km fn 2 llters of petrol In |

how many llters of petrol wnll 1t cover 225km"
Solutlon - SR o 5 ‘
| Let 225 km is covered i 1nx llters of petrol So o T
. Distance (km), Petrol,(hters) o

wl _— -2_l
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o The proportlon is d}rect So -
. 90 225::2:x o ‘
] 90 .2

re———".
_-—

o225 x
'-'::»90xx 225x2

225><2

. _“—-‘>x'-— '—5LterAns

T ,Q,4‘.-‘_" A certam Journey by tram takes 5 hours at the .
A speed of 45km/h. What will be the speed of the

_ R j' tram to complete the same Journey m 3 imurs"
Solutlon - : : R
Let the speed by X km/h ta complete the Journey in 3.

' hours . |
Thus Tnne (hours) Speed (km/h)

T5. 145 ‘-_'ep_'amf¢ -

The proportton is mverse So

e

35 45:x
3 454 s
| i-:fsxxvsms o
.':.?x__ '.sx345-75km/hAns o

| . Q.5 :'Slx men can pamt a house m four days How leng | "
R would take to paint the house' if three men are

I | f temployed"
* Solution:s K |
| Men ‘Days. .-

s

Here , the proportion is inverse. So
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3:6 d:x T
G4

6 x

. :?3><7.X';'4x'6“_ '

. 'help of 25 persons working 4 hours dally How =
" " many blcycle can'be made by 40 persons if they.". o
| work3 hours dally” o o | |

6 _g
3 —.‘,.

= x =
o -8DaysAns'. B
A manager plans to produce 100 blcyeles with the

Solutlon -

‘Let, he can make x blcycles So
Persons -~ Daily hours - Blcycles

*g.;zs l ;.4.l. 100 l, o

| '.Both the’ proportmns are dlrect

. So -

C(25:40) s
{ }IOOx

4 3

o Product of extremes = Product of means

. ?(17-’
" - 20 machines. How many fans can be made in 12
days with the help of 18 machines ?- |

25 x4xx= 40x3x100 x

i o

40x3x100 .
— = ] 20 b cl
25 x | 1cy es Ans

A faetory makes 560 fans in7 days with the help of

Solunon Let x fans can be made S

Days Machines  Fans.

s

71 zol‘.._.s(sol'-
12 - 18v. . x v
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Both the proportlons are direct.

7 :12 560x
- 20 18

" Product of extreies = Product of means
= 7><20xx 560x12x18 _

560><12x18 : |
-*864F ﬁns
7x20 ans.

o Q.‘SQ A factory makes 600 soaps in 9 days w:th the help,.- '
o of 20 machines. How many soaps can be made m
12 days with the he]p of 18 machnnes ? |

- Solutlon -

- Days Machmes Soaps

oy J, 201 6001 Bn @
2v. 18y x v

- Both the proportlons are dlrect so

9 .12y~
12018 - 60k l

Product of extremes = Product of means
2 9x20xx=12x18x600
‘x 12x I 8>< 600
o 9%20
Q9- If the stay of lZmen for- 28 days in a hotel cost. o
- Rs6M20. Find the cost for the stay of 7 men for 13 days
- Solutlon - .
Men Days Cost (Rs)

121 231 6_7,201 sl
v MY xS T

Both the proportions are direct. So -

(28] - o
o8 iaef i 0720

L4

= 7ZOSoaps Ans |
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- Product.of extremes = Product of means R
:: ]2 x28xx 8x}4 x6720

:-),x 8 x 14x 6720 - 22410 -

T 12x28
=Rs. 2240 Ans . .

Q 10- If the. stay of 14 men for 8 days in a hotel cost Rs S

- 22,400. Fmd the cost for the stay of 7 men for 13
days T e e :
"-Solutlon- S 3

Men Days Cost (Rs)

: 141 Sl _224001,
7 v I3v x o ¥

Both the proportlons are dlrect So L
13 } 222400 2X -
Product of extremes = Product of means | \ |

= 14x8><x 22400><7><13

;_;x _ 22400 X 7% 13
o 4% 8
= x=18200 "
- . =Rs 18200Ans :
Q 11— 14 cows consume 63kg of hay in 18 days How B
. - many cows wnll eat 770kg of hay in 28 days at

| ) the same rate"
: Solutlon -

L

Hay (kg)"__.v, D’ays‘.l- Cows -
63 l o IST L .fv"'l: 5
770 281 L x v o

e Hay and cows are directly pr0port10nal
... Days and cows are mversely pmportnonal
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o __s;j

63'770 T
S 14 . x

28 18 ot

Product of extremes = Product of means

=>63><28xx ]4x770><18 '
I4x770x 18

= _noc s
= x= 6Ix28 °wAnS .

Q 12- Jmce manufacturer produce 3000 bottles in a day‘ -
o cmploymg 15 workers working 8 hours. Find the )
. number of bottles. manufactured when he employs" |

' 18 workers workmg 6 hours

L Solutlon - |

: Workers X Houré 'Bo.ttles'

15 l . ,8‘1 g '300‘01;
T 18 6 xS

o _Both the propomons are dn'ect So I

s8] . o
A 3000 X -

816
| Product of extremes = Product of means. . ‘-
L > Isxdxx s 18x6x3000 .
e 18x6x3000 I
| T 15x8 SR

=> x= 2700 Bottles Ans :
REVIEW EXERCISE '|

Q3 Enclrcle the correct answer.
) 20%0f600is: | DR
o (@12 o .(5)120 .
(20 - - (@200




N

: '.'-Fr_ia'ndtyuomporcmmmaﬁcﬁﬁa9 T 26

: Fractlon form of 70 / is:

10 -

. o e

E '. : _:(iiz).l. |

@

@

270 in. terms of percentage is: .‘
C@s% . @35
R (d) 20/
.' () ; in terms of percentage 1s
;@g-‘_(a)zfy S (b)l%
'.‘-(c) 33% (aD 33*'9/
| ..'(v) 0 I3aspercentage is: o
. (@13 (b)30 y
S 13% (d) 109*
(w) Inaratioa: b, * ‘a’ 1s called |
C(a) extrerne o o (b) antecedent |
(4, consequent' S @ means &
. i) Inaratioa:d, "b”is called: |
S (@) extreme -~ (b means
I (c) antecedent - (d) consequent |
iii)- Ina proportlon a: bec: d, aand dare called
o :(a) extreme - . -(b) means -

{c) anteé\edent »'i N 2/, consequent
Inaproportiona ;b ¢ d, band care called
‘(@) means " . " (B) extreme -

(c) consequent e @ antecedent- .

'Lowest form of 75 95 is:
R (a) 15217 ) 15 ]9

(c)19 s . ) 17:15
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0)

i)

B T (W)

E ,,"_Solutxon-

1w @b | Ga | @md
&vcec. | (vib "'(vii)_?'d | (viii) a
(x)a | @b | -~
Q2- Fill in the blanks.
. 30% of 1500is___
-Fraetidn"'fonn“cf-lli% is__ -
N SO
(z‘ii) 75 Ssin terms. of percentage is _
2. . P
. Eln terms of percentage is-
(v)  0.29as percentage is .
(vi) -‘Inaratloa b~ ”iscalled
(vii) Inaratioa: b “b” is called
- (vidi) ,Inaproportlona bic: d,aand d arecalled .
{ix) “Ina proportion a': b-:: ¢ : d the product of extremes 1s_1 :
7 -equal t0.the product of C
™ ‘The snmplest form of Oy
@ 450 .(,-,)_% | (m) 28% (iv) 66.67% |
(v) 29 ‘V (vi) Antecedent (vu)Consequent (vz'ii)Extr.‘emes o
(zx)Means (x) 10=9 | ‘ |
. _Q_._3- A rallway tram carries 800 passengers, '55%
passengers are men, 15% are chtldren. _What is the .
percentage of women" | R |

Percentage of Men 55 ‘V
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: Percentage of Children =/ 5 %
~ .Percentage of Women=? =~ ° -~ |

Percentage of Women =1 00 % - % age of Men .

C  —%ageof Children -

_-100% 55% -»]5A 30A
. “'Women = 30%Ans. -

Q4- Azeem spends 25% of his income on house l:.ent,-_:
" 60%. of the rest amount on household expenditure.

L -~ If he saves Rs 2100 what is hls total mcome"
Solutlon - : R - o
' Let X rupees be the total incomie.
‘House rent = 25 %bofx. .
| Remaln amount = 75 %% of x
:-“_”‘*" e ,,,_75 . 3x |
| ] 00 : 4 o

House hold expendltures = 60 % of -

: HesaVes 40%of—'-

40 3 Ix

[ —— .

100' K 10

Accordmg to the gwen condltlon
N '
Saving = = 75 —Rs 2100
;'=>x 2100x 10 *7000
a 3 ‘
SO = Rs. 7000
R Total lmume-— 7000 Ans. :
'0.5- In a school there are 220 student chalrs, 10
- student tables, S0 staff chairs and’ 30 staff tabks
. Find the ratio of the fcllowmg o
() Students chairs to students tables



. ,Solutton -

- 29 L o _ FnandlyNntufarGeMraanthemhcs9

(t‘i) Students chalrs to staff chairs.
: ':(iii) Students tables to staff tables
-'Solutlon- |
- .Students chatrs =220 L -
'Studentstables—_ 10 ;' S
© Staffchairs= 50. .~ .
- _rStaffftableﬂs="30'
-,(’7- L .Student chalrs students tables
. =220:110=2:1Ans.
" (i) Student chaifs : Staff chairs o
S 220 -.-;-'- 50
L = 22 1 - 5-Anps.
(i) . Students tables : Staff tables
| | 110 300
o =1 o3 A, S
© Q6 Two angles in a triangle are 48° ahd 60°. find the |

ratio of the tlnrd angle to the sum of. tlle l'lrst two o

angles e Lo

-Let x “ be the rneasure of thtrd and SO wWe know
. Sum of three angles of a tnangle -—180" |
- = +48"+ 60" = [80‘l | |
R "+ 108" = 80"
x'= 180”-’ 108" = 72”
) -Now required ratio s -
~ Third angle : Sum of ﬁrst two angles |
72“ 48" +-60° =. 72:108
A“ =2: 3 Ans.
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QU 8 persons can do a job in 24 days, |f4 more persons

o Solutlon -

join them,. how ‘much tlme they w:]l take to
- complete the same ]ob"

,'=_Persons‘ _Days : :
2l w2

The proportion is. inverse, So

e

12:8:24: x" P
ity Tat L
S 2xx=24x8
S 24x8 .
- = x=———=16"Days. Ans.

. Q8- The stay of 18 students for 36 days ina hostel costs; '
| Rs. 58320. Find the cost. for the stay of 9 students
for 12 days e | o

‘ .Soiutlon-- | -'

Students Days - © . Cost (Rs) g
- 181. R 36l 58320l
S 2R Y 5 Cox=? v
Both the proportlons are dlrect |
18:9 |
58320 X
36:121

Product of extremes = Product of means -
18x36xx 9x]2><58320 | '
Qx 12x58‘3204 9720
18x36 o

x=Rs. 9720 Ans.
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@

@

- Q.9-

@ 15112 B) 15:12 (& 5:4  (3:4..

MUlTIPI.E CHOICE QUESTIONS

R Q;i- - Tick the correct answer
G Percenteg_eme,ansr | e
(@ Ou of hundred ©~ (3  Perbundred
(C) . "I'batlmes - (@ Al o.ft‘heseh
Q2 45 % s equal to L
- Q3 3 isequal to
@ 1% (b) 140% () 140 @) Au.bf'these o
QA-._- 71 % of earthlswaterand the land is - .' .
(@) - _35/ ®) - 40% (c) 29V (d) 31% .
Q5 0. 065 is equal o o
@ 65/ (b), " ‘"%(c) 650"/’(41)"065?
L Q6- - 56 % of- homes have a-ear then the homes ‘having
: -no cars are 2 o e : oL '_l_
(@ 34% () 44 %'-‘-*(c)- ;-'54‘-%. -(d), . 60%
~ Q.7- 84 % of abook consists of 42 pages. . .

" The total nuniber of pages are. y
3000 () 400 () 500 (d) 600

40 books are increased in the ratio

5:4 The new number of bodks are -

:32 (B 45 -(c) .50 () 52

The ratlo 1500 : 1200 in lts lowest terms is
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‘- . Q.10- Out of 1029 students 504 are glrls The ratlo of _

o boys to number of glrls is :
: _.(a) 1029 : 504 (b) 504 1029 (c) 504 : 525 (d 525 504
© Qll- lfa b=2:3 then 6a : 2b is.equal to e

@ ® 12 @ 31 @ i3
. Qa2- Ifa b :c dthen | S
_J'-'.(a) ab = cd (b) sc=bd () ad= be (d) —§-=%
Q13- Ifx 3 : 60: 15 thenxlsequal to . |
@ 0omo 2@ 15 @

Q4 The relatlonshlp between two or more proportlons
~ iscalled - R |
- {a) . Direct Proportlon | (b) Inverse Proportlon
(c)*  Simple Proportion  {d) ‘Compound Proportions
Q 15- Ina factory the Proportion between workers and
the Production is, -

o (a) ‘Dlrect (b) Inverse (¢) Compound (d) Complex "

- Q 16- The proportion between workers. and days to
complete a work is i '

o (a) Dlrect (b) Inverse - (c) Compound (d) Slmplc |

- Q17- 8 Workers complete.a work in § days then 4

workers will complete itin . .

@ 10Days (b) 12Days. (c) 14 Days (d) 15Days |

- Q18- Ahmad saves 15.% of his i income his expend:ture is
3 ____of income. . | |

 @.75%  (5) 80% () 85% (d) 905/

Q.19- Lowestformof'ls 9.5is .
_(a) 15: 17 (b) !5 19 (c) 19: 15 (d) 17 15
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Bl lm..pn-u(du.mu‘)l! L CHETICE L UG e, N T

R MODEI. cuss mi sioi) ndswisd .
A Tﬁne 40 ?{fuy rr;q{n‘i Jd!".'w!!: ﬁflb me 25\: o
o tfl- il bR Gorfbot atiwit = erwol A tin
- Ao Loai }'fs!“f!qu 5 4t 7aruoj adr boags- !b({il o

(lim ’rgaflﬁmtoﬂ‘* o 24 rz eliga 7.\ To, soig Eis \‘m-

o E !‘“’fzf)\‘ 1@10 Jribfog}t 6@%‘1 hsaf(,_l}'rygg%fm f(g)@ 14()¢y o
’-'_(u) - Out o X0 ’s&fﬁéﬁ?ﬂ"?ﬁﬂ’@fé&’@(f ﬁi’e"l‘f@s’yﬁs "ﬂﬁ,

absent students‘éi@ RLoai "h}} i ob o, mwafi‘f Ay S

e ceglytipgg o @gedugpniol ppmenon Yol s0%

Gii) A team won 3‘2“’:/3“1’1‘?5&[%&5”*”&@93 ‘2’69’3%@?1% in al o

I. k. 300, %’ﬁva)m %hﬁﬁ%ﬁlh‘?ﬁwféﬁe& ?brmq,a grx,.:.nﬁ -y -_
- gri R &;}ﬂ]@gﬂqw b‘iy)r Pg%)d o @nqw:ﬂ qdw}) 20% o
(w) “The ratldfﬁ?%“h‘ﬁgé‘se&i&i 1670 Ripeesitr ‘doen is

oot °u{ag)arg Ysto vmm} 8 1} Imm@;?g,ug (}%\W 149 g@g\g-\' |

(@ th ’I"O?llé‘ﬁ;lélcéf & ks W“Wr'land*@%&‘angle tof_'

c " the sum Ofgﬁ?é{nqa;g aﬁélggigfﬁihgm inoioiftue ..
:..‘-'-‘_.'(0)16 ®) 1:4 (o) I: 3(d)12‘ L
e ;‘._._(v'i)r The relanonsfﬁ'ﬁmm more Propomons is  "._ -

_'known as

- (a) L D—l,l‘@ct_ Proportlon (b) Indlrect Proportlon :

o (c)  Inverse Proportion:  (d)  Compound P_I‘QPO_.ﬂ.lOH'-',

. (vii) 1£20:50::8:x Then

@ x=10 - (b) x=20 -(c) x=30 @ i=40

. Q2-— '-Attempt any 5 short guestions from. the followmg

“(i). . Atable costs Rs..720. It is sold for Rs 920 What -
LT Percentage of profit is eamed? a
) | Define "Antecedent and Consequent" m a ratlo

| (ifi) "ln what ratio 60m’ be decreased to 24m’ 7

- ). A recta.ngle has length of 6cm and width of 4cm AT
o .-_SCCO_I'lﬁd_l"ﬁCtang_le ha_S_arez} of 18m® .Fm_d the ratio of -

-
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W

i)

- i)
7 suits canbe purchased by an amount of Rs. 4050 ? . °
,-Attelﬁptany two of the following (4 X 2) S
& Persons can do a jobin 24.days.

s If 4 more petsons joined thcm, how many days w:ll‘

03
G

G

betwecn their areas .
Deﬁne dn'ect and inverse Propornons‘7

A ’loumey takes 5 hours at the speed of 45km/h At . .'
- what'speed the journey be completed in 3 hours R

The price of /5 suits is Rs. § 750 How many such‘

they take to complete the same job'?

| Azeem spends 25% of his income on house rent , 6(% :

of the remaining on house hold exprendttures If he o
- saves Rs. 2/00, what is his total income? o
Rs. 4000 are sufficient for a famxly of 4 members for o
40 days : "For how many days Rs: ! 5000 w1ll be

. :.. -sufﬁc1ent for a famﬂy of 35 members -

PN WP



